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1. Toss a fair coin 2 times. What is the Ω (outcome space)? What is the Ω when tossing the coin 3 times?

2. Find P(2H and 1T) by looking at your answer to question 1.

3. Answer the following questions about this outcome space, Ω.

a. Number of outcomes in Ω?

b. P(A)?

c. P(not A)?

d. P(A and B)?

e. P(A and B and C)?

f. P(neither A nor B nor C)?
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4. Roll a pair of six sided dice. Write out the outcome space Ω for rolling a pair of dice. What are the outcomes
in the event that the sum of the faces rolled is 7? What is the probability of this event?

5. Chapter 1 Ex. 2ab


